Act. #wt - Noliing Netural Logarithens”

Solve cach equation. Rowured («jowt ansLoeRs o neavest 7“64#5?-

H] In (34 7) = In (=3n-5) @ In(4b - 9)=1In b

In (" +2x} = 1n (36 - 3x) _ In {35+ v) =1In (» — )

@ ~7In{n+1)=-14 n{a+s)+4=3
2-10In (5p-4)=12 2-5In(10k+4) =12

@ n{y-2) Iny=1 @ In(x—4)—inx=InS5I

@ n{y-4) Inx=2 nx—1In(x+3)=4
ln (2,\'2 - 2_) —In9=In 80 U:lB[ In (—3 + 3n) =ln (nz - n)

Selve each equation. Round your answers to the nearest tenth <.

8¢ "= 49 2% = 45

@ e g3 o 4= 59

3¢ ? 56 ~9.3e'"%" - 67
@ 4¢" % = 09 @ 6e”'" =63

Solve for x.&erz—H«S P}a ce]

B¢t =4 M. nx=6 25- In(2x-1)=1 2. S 21
11 In (03' ‘)-: 8 28- Inx=Ind+In7y 9q. In (ln x) =2 30. ¢ =5
at‘ ]n = % 32. e,\ — 7 33' 85—21 — 2

3H. 1y (4.\' +7)=4



